
CSS General Abilities Chapter 6 Online Entry Test

Sr Questions Answers Choice

1 How Many Calories Should you Eat per day to lose Weight?
A. 2000
B. 2500
C. 1500
D. 3000

2 Collection of water droplets which are suspended in air are called
A. Wind
B. Cloud
C. Gases
D. Sleet

3 Which distance is bigger - an astronomical unit (AU) or a light-year (LY)?

A. An astronomical unit (AU)
B. Neither one is a measurement of
distance.
C. They're both about the same
distance
D. A light-year (LY)

4 The sky is blue because of:
A. Rayleigh scattering
B. Reflection
C. Mie scattering
D. Refraction

5 how is dengue fever transmitted ?

A. Bite of an infected mosquito
B. Bite of an infected female
Anppheles mosquito
C. Bite of an infectected male Aedes
mosquito
D. Bite of an infected female Aedes
mosquito

6 The principle used in radar is the same as that of Sonar. In radar we use radio wave;
whereas in sonar we use:

A. Red waves
B. infrared waves
C. Ultrasonic
D. super sonic
E. None of these

7 The use of antibiotic is a very effective way of killing disease causing bacteria. Sometime
people don't finished all of their pills. this can result in:

A. Some bacteria left unkilled
B. Production of more becteria
C. Bacteria becoming sensitive to
antibiotics
D. Bacteria becoming resistant to
antibiotics

8 Astronomical Unit of light year is used to measure

A. Distance
B. Time Period
C. Light intensity
D. Time
E. None of these

9
A man walks 2 km towards North. Then he turns to East and walks 10 km. After this he truns
to North and walks 3 km. Again he truns towards East and walks 2 km. How far is he from the
starting point?

A. 10
B. 13
C. 15
D. None of these

10 It takes Ali 30 minutes to mark a paper. Aslam only needs 25 minutes to mark a paper. If the
both start marking papers at 11:00 AM, at what time they will finish marking at the same time.

A. 12:30
B. 12:45
C. 01:30
D. 12:25

11 A told B that C is his father's nephew. D is A's cousin but not the brother of C. What
relationship is there between D and C?

A. Father
B. Brother &amp; Sister
C. Mother
D. Aunt

12 In a certain code language COMPUTER is written as RFUVQNPC. How will MEDICINE be
written in code language ?

A. MFEDJJOE
B. EOJDEJFM
C. MFEJDJOE
D. EOJDJEFM

13 Conversion of oil into ghee:
A. Crystallisation
B. Hydrogenation
C. oxidation
D. None of these

A. Nickel
B. aluminium isopropoxide



14 Catalust to convert oil into ghee: B. aluminium isopropoxide
C. phosphonium borate
D. None of these

15 Blood clotting happens in which part of human body?
A. Veins
B. Concave
C. Concave mirror
D. None of these

16 Newspaper can be recycled:
A. 5 to 7 times
B. 5 times
C. 4 times
D. None of these

17 The blue color of sky is due to:
A. Rayleigh scattering
B. Mie scattering
C. Sky Saturation
D. None of these

18 Phosphorus helps plant growth of :
A. Leaves
B. Seeds
C. Root
D. None of these

19 Plaster of Paris is obtained from:
A. Brochantite
B. Gypsum
C. Chalcanthite
D. None of these

20 Stone used in whitewash:
A. Claystone
B. Stonelime
C. Sandstone
D. None of these


